D1vISION WITH A REMAINDER IT (H - SET 1)

PIVISTON WITH 10 O 10 1;?;1: Score: J
51 —20319 + (—6) = w0 34799 + 9 =
152 15137 + (—9) = ) 12727 + (—6) =
153 —47932 = 7 = 168) 39850 + 9 =
151 —16318 =2 = 169 49473 + (=7) =
159 8373+ 0 = ) —5726 + (—9) =
56 15312 + (—2) = ) 4775 + (=9) =
571 —35516 + (—4) = i) 18657 + 2 =
58 —27731 + 4 = 1) 565+ 3 =
159 13212 = 9 = i) —206677 = 3 =
w0 9773 +2 = ) 26768 + (—3) =
161 —5H8949 -6 = 176) 23595 + 6 =
162) 23976 + 7 = ) 23781 + (—8) =
w3 —13369 = (—2) = ) —9553 =1 =
w01 —47748 = (—10) = ) 77364+ 9 =
16 —31481 <+ (—8) = 50 —6701 + (—1) =
Mathematics: Division - Level § - Horizontal - Set 1 17 culus
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